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1. 308 DDITEPOD DTS PPaeed $e03)0k.

2c0s’6 = 1

I ° Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FawgTVZSDmch

2. 308 HIEEPOD PT°S Gaeen 3080k,

V3secl +2 =0

o Watch Video Solution

3. 508 HAIBEFOD TS G $0%)0d.

3tan?0 = 1

° Watch Video Solution



https://dl.doubtnut.com/l/_FawgTVZSDmch
https://dl.doubtnut.com/l/_7oZSQR4WfyQI
https://dl.doubtnut.com/l/_omPOe34GZZrt

4, 308 QDNZEEPOD PEON0G.

Vb +1

20 =
cos 20 1

, 0 € [0, 2]

o Watch Video Solution

5. 308 QDNZEEPOD PE0N06.

tan’f = 1,0 € [ — 7, + 7]

° Watch Video Solution



https://dl.doubtnut.com/l/_TNdu0VUJSeGL
https://dl.doubtnut.com/l/_8aQ90jYHFJmM

6. 308 QDNZEEPOD PE0B06.
/3

Sin30:T,6’E | —m, + 7

o Watch Video Solution

7. 308 QAZETPOD PE0B06.

3
cos’ f = Z’H c [0, 7]

° Watch Video Solution



https://dl.doubtnut.com/l/_NWIuAUDgmhnD
https://dl.doubtnut.com/l/_6otJ5EE72hhL

8. 308 QDNZEEPOD PE0N06.

2sin® @ = siné, 6 € (0, )

° Watch Video Solution

9. 308 DDICEFOD KBS ETOD

§<§)§6&06?9.sin0 = ? cosf = — (%)

° Watch Video Solution



https://dl.doubtnut.com/l/_VpdvqqMXupGb
https://dl.doubtnut.com/l/_MxIPTl3RTTxc

10. 508 JDICEPOD PEBT  IETOD

§<§)‘§6&oc‘§.

. - 1 B 2
anx = ﬁ ,SecT = %

° Watch Video Solution

M. 508 JDICTOD FEHAE  ETPOD

§c63‘§82joc?9. cosecd = —2.cot = — /3

o Watch Video Solution



https://dl.doubtnut.com/l/_jsE95oTtoKQS
https://dl.doubtnut.com/l/_FS6Kh18JF6C9

12. sin(270° — z) = cos 292° 90003,

(0, 360° ) S x DensD 380,

° Watch Video Solution

13. = <90°,sin(z + 28°) = cos(3z — 78°)

IO X DI $08)06%.

o Watch Video Solution



https://dl.doubtnut.com/l/_arYpK5G15nVG
https://dl.doubtnut.com/l/_qL6Rs2rv2RBy

14. & 35080 JDIOEPOD FEBE ETOD

0°00063. 2sin’ 6 = 3 cos 6

° Watch Video Solution

15. & 300 VDICEPOD EHBE IETOD

1
0,006, sin? 6 — cos ) = I

o Watch Video Solution



https://dl.doubtnut.com/l/_9FRh9k2c8TFV
https://dl.doubtnut.com/l/_vA6iQWdNQVwM

16. & 500 VDICEPOD VEBE TV

T°000G. 5 cos® 0 + Tsin’ 6 = 6

° Watch Video Solution

17. & 3508 JAIBETODH PEBZ JETPOD

0?0903, 3sin*z + costz = 1

o Watch Video Solution



https://dl.doubtnut.com/l/_gThNBKuVIG1b
https://dl.doubtnut.com/l/_suBKm75Ld0v4

18. & 3508 DAIETOD oD KB

308 TPoH0G. 2sin’ 6 — 4 = 5cos §

° Watch Video Solution

19. & 308 DADIEETOD oD KB
AMOINS T°00G%.

2+ +/3secx — 4cosT = 2,/3

o Watch Video Solution



https://dl.doubtnut.com/l/_hs1MezeXstqs
https://dl.doubtnut.com/l/_GQry3GyTHD4z

20. & 508 DICEPOD PH0D KB

530D T°a00G. 2cos? 0 + 11sinf = 7

° Watch Video Solution

21. & 508 DAITOD FHOD KR

AMOINS T°00G%.

G6tan?x — 2cos®x = cos 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_UzXnCOEE5wHe
https://dl.doubtnut.com/l/_vRUotaKN8a1o

22. & 508 JDIBETTOD PHOD JEB3

NAINMOINY T°00N0G.

1+ sin2z = (sin3z — cos 3z)°

° Watch Video Solution

23. & 508 JICETPOD PHOD KB

3508 TPoH0c. 2sin? z + sin? 2z = 2

o Watch Video Solution



https://dl.doubtnut.com/l/_WMGrudnktbtI
https://dl.doubtnut.com/l/_k6c34f91WCHK

24, 308 DAEBTTO D

V/3sinf — cos @ = /2

PE0N06.

° Watch Video Solution

25. 308 DAEBTTO D

cot  + cosecr = /3

PE0L0C.

o Watch Video Solution



https://dl.doubtnut.com/l/_s7MrXK0ZYMcG
https://dl.doubtnut.com/l/_EgaWn2NuN5dn

26. 308 QNZEEPOD PEON0C.

sinz + /3cosx = /2

° Watch Video Solution

27.
sinx + sin2x + sin3x = cos x + cos 2x + cos 3x

D FPHON0C.

o Watch Video Solution



https://dl.doubtnut.com/l/_bEK45f74L9V5
https://dl.doubtnut.com/l/_emx1I9QUpT2m

28. 308 DAEBTTO D

cos 26 + cos 89 = cos b0

PE0N06.

° Watch Video Solution

29. 308 DAEBTTO D

cos @ — cos 760 = sin 46

PE00C.

o Watch Video Solution



https://dl.doubtnut.com/l/_TrGzjwn6UEkK
https://dl.doubtnut.com/l/_1bwDF7bDGXTU

30. 308 DNZBTPOD FH0B0¢. ‘sin theta +

sin 5 theta =sin 3 theta, O

° Watch Video Solution

31. Find the number of solutions of the
equation tanz + secx = 2cosx,cosz # 0

lying in the interval (0, 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_DMPdFDOXU1cu
https://dl.doubtnut.com/l/_PUA9mhsSkw0D

32. If sin3a = 4sinasin(z + a)sin(z — a),

then x =

° Watch Video Solution

33. If tan(w cos @) = cot(msinf), then prove

s 1
that cos(@ — —) = 4+ ——
4 24/2

° Watch Video Solution



https://dl.doubtnut.com/l/_4JHrVNHKuVc5
https://dl.doubtnut.com/l/_lTScJEgELddP

34.If o, B are solutions of acos @ + bsinf = ¢
where a, b, cEeER and
a’ + b* > 0, cosa # cos 3, sina # sin B

then prove that

2bc

sina + sin g =
B CL2 + b2

o Watch Video Solution

35.If o, B are solutions of acos @ + bsinf = ¢
where a, b, c € R and

a? 4+ b*> > 0, cos a # cos 3, sina # sinf3


https://dl.doubtnut.com/l/_jmZdwUdyApue
https://dl.doubtnut.com/l/_If8mLudaZdpN

then prove that

2ac
a? + b2

cosa + cos B =

o Watch Video Solution

36. acosf + bsinf =c,a,b,c € R
QBTN a, B e PRI 90w
a’ + b* > 0, cos o # cos 3, sina # sin B

0S50 B Hd 3I0DHodk.

2 — b2

a? + b2

cos acos f =

° Watch Video Solution



https://dl.doubtnut.com/l/_If8mLudaZdpN
https://dl.doubtnut.com/l/_iPhIcQLTsw99
https://dl.doubtnut.com/l/_lTqgA0AiER2t

37. acosf + bsinf =c,a,b,c € R
DB o, B o lPIew  e9ow
a2+ b* > 0, cosa # cos B, sina # sin B

0Nd 300 B Hd 30H0k.

c2—a2

a2_|_b2

sinasin 8 =

o Watch Video Solution

38. \/6—cos:c+7sin2m+cos:c:0

SAVel0N) PE0B06.

° Watch Video Solution



https://dl.doubtnut.com/l/_lTqgA0AiER2t
https://dl.doubtnut.com/l/_Ot3fGfPN2ptW

39.If tanz| = tanz +

and z € [0, 27|,
COS X

then find values of x

° Watch Video Solution

1
40.s5inx = — Q OON0CG.
V2

° Watch Video Solution

V5 —1

41.sin 20 =
sin 1

Q PHON0G.

° Watch Video Solution



https://dl.doubtnut.com/l/_3ssIZuZ8kRO9
https://dl.doubtnut.com/l/_DhSLaFPb9hMc
https://dl.doubtnut.com/l/_vzSayIqNrLLT

42.tan’ 0 = 3 O HOB0G.

o Watch Video Solution

43.3 cos ecx = 4sinx Q PE0L0%.

° Watch Video Solution

44, X 258 07D $ea0,

sin(z + 10°) = cos(3z — 68°) 9020 x eV


https://dl.doubtnut.com/l/_vzSayIqNrLLT
https://dl.doubtnut.com/l/_XETxWevw5pd9
https://dl.doubtnut.com/l/_S4QBw9qoOacC
https://dl.doubtnut.com/l/_B39N6Chfwvci

§c6)‘§‘250c?9.

o Watch Video Solution

45. cos 30 = sin 20 A PE0L0C.

° Watch Video Solution

46.7sin’ 60 + 3cos® 0 = 4 D JHOB0%.

° Watch Video Solution



https://dl.doubtnut.com/l/_B39N6Chfwvci
https://dl.doubtnut.com/l/_Mrg87CehDj0Z
https://dl.doubtnut.com/l/_TnbaJNQXnnR4

47.2cos” 0 — /3sinf + 1 = 0 D IJHOB0c.

° Watch Video Solution

48, (—m,m) 290855065
81+cosa:+cos2:c+...... _ 43 “coo‘f)ﬁéz'a%t’)o\

a0 DY), APIFIE DD §808)0k.

o Watch Video Solution

49.tanf + 3cot @ = 5sec JHON0CG.



https://dl.doubtnut.com/l/_YUN31tAGpST8
https://dl.doubtnut.com/l/_GXQloQz5oG5C
https://dl.doubtnut.com/l/_e9WogqRfkfXI

I O Watch Video Solution

50.1 + sin 0 = 3sin 6 cos § FPE0B06.

o Watch Video Solution

51./2(sinz + cos ) = /3 FPOOH0G.

o Watch Video Solution



https://dl.doubtnut.com/l/_e9WogqRfkfXI
https://dl.doubtnut.com/l/_Irh5zW5HD4iP
https://dl.doubtnut.com/l/_Msg08fpYPam5

1
52.sinf = — 5 cosf = — ? IVl OIS

0066063 B8R 0 D, FKBZ DD

§<63‘§‘&oc?9.

o Watch Video Solution

53.If 4sinx. sin 2x. sin4x = sin 3x then 0 =

° Watch Video Solution



https://dl.doubtnut.com/l/_BXtG1OYIF9GW
https://dl.doubtnut.com/l/_ZibwwM0bxnP0

54. Show that the solutions cos pf = singf
from two series each of which is an A.P. Find

also the common difference of each AP

(p# *£4q

° Watch Video Solution

55. Solve sin 2x - cos 2X =sin X - COS X.

o Watch Video Solution



https://dl.doubtnut.com/l/_hJUv4r5Y9b85
https://dl.doubtnut.com/l/_zWq0uJjjN7MK

